% ¥ (complex number) DEH BERELIL?

[p.116 ]
a=a+ib=a+bi a = Re(a) + iIm(a)
i=J=1 rE¥ R (imaginary unit) 2=~ |
= ' 2k - .
¢= _Qe(d) %EF (.xeal Part) a,bix "EES (real number)
b= Tm(3) =X (imaginary part) [p.116 ]
a=a=a+10 X ‘%’%"I (real number) Im(a)= O
a=1ib=0+ibix FE[EHT (pure imaginary number) Re(a) = ©
0=0+10 (116 ]
a=a+ib, B=c+id DFHE
HEo=0¢ L, a=0&
b=d  E% b= 0
mARHE :
a+B=(a+ib)+(c+id)=a+ib+c+id= (Q+rc)+i(btd)
a—fB=(a+ib)—(c+id)=a+ib—c—id= (a-<)+i(b-d)
af = (a+1b)(c+1id) = ac +iad +ibc+?bd = (aAc—-bd)+1 (ad+bc)
a_a+ib_(a+ib)(c—id) ac—iad+ibc—id oc+bd , . bc-od
B~ ctid  (c+id)(c—id) 2~ 23 T Tt ar T et
REGHEZL, ?=-1 2N EHLETICEELT, FRLERK [
[p.116—p.117 |
: a bc -ad



51 4—21_(4—2’@)(3—@')_12—4i—6i+2i2_10—10i_1__z, |
3+i  (B+i)(3—1) 9 — 42 DN T
/ [p-117 fi 1]

RE:ERIRE | [p.117 R 1][p.131 1. |
t= —0+13¢

1 ko3BEEEE. () (-2+7)—(8—6i))= -2+ -R + 61 =
(b)(5-2)(83+2i)= 15 +lOiL—-61-41"= \Q +4-1

i ~ \) _ ~ «_\Z " =)
346 (BtiIU~)  3-a4-U 4  E2 T

C - — = =
© 1+¢ (=)= e 2 2
g 2 st g B S o
@ #=>1=-\ p= h=\ SERRN TR
e YA a7 T T L
1+8 . l=f.. G2 W) - P=ts 2Ry

L ¥, o 2
(£) (263 + 3i%) (84 — 2i%) = =23+27 )\ =21 )= L (1-2i )= (-2t

(g) <cos-7z+isinz) cos7—7r+zsm7—7r =
9 9 18 18 M
w b S T‘-(,(DS'T“' ‘\‘COS“SKV\—'—"
‘ At ¥ q is

2% ™ _r_l“l'_\' & ‘n_—- 3

= (Cosc‘cos = Si qSh E q E

= Cos (T:T )"‘; 95“(1 +?—;— = c,os-g Sl = \
—= %, som T 3¢

i (?ii) (2112 0 1?ﬁi3)=Im(—a+z)=|

(5+20)(320) = IH-10T + 6141 = 19-41
[+¢ _ G+DI(3-0) . 3-1+3:-¢° 4 B

-

B¢ G+1)(3-0) B (o 1
" | b : &%
: Cos =+ Cagrmsr b S =N
(Qos%+: g}nl;_\_(gs‘gq +1isin g‘rr) <°‘§' $in )(o S"‘p:,
1 3w o R )
A s‘”s‘“ (@ T5-isn3T)






